dnyuonewlolul [ea1uyos)

=
2
=3
@

g
g
g
5
Qo
Q@
@®
m
c
Ny
@
m
C
S
I
=
=z

dnysay Jejw

IS 995

http://farbe.li.tu-berlin.de/BEU2/BEU2LON1.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABIND? lightness

L* Laganpz= (U2) In [ 1.+ b ()
a=0.3411 1=88.23 Ua=258.6 b=¥,=6.14

og L1+ )

e

relaiive LABINDZ lightness

L*Lagonpz= (Va) In [ 1+ b (YY)
ALY = (V) {In (1 +br(YIY) - In (1 +b)}
=8823 a=258.6 14

LABIND?-
ristimulus value diforence
) In[1+b Y]
11 8823 Ua=258.6 b=
otimlus value diferonce
log(dY)=log [(s+qY)/c]
Flogll1 e (1)) 1)
0017 G-0.0058

08 dYY,;
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log (AYrY) LABIND2:
e ) wistmulus value sensiviy
L Liganpz= (V) In[1.+ b (1Y)
403411 (8823 Ua=258.6 b=¥,-6.14
istimulus velue sensiivity
log(@¥¥)=log [ (1 +b (YN /(1Y) ]

appication’
range

loalAvY,) relaive LABIND?
aviay,  msimuius value iference

Uisnoo= (9 n[ 1+ b (]

203411 1-88.23 Ua=258.6 b=#,=6.14
e mslm\ums et
ToaIeN 1o (05 (YN - 1o (4+8) 1]

Y,718 0Y,50.08 0Y,/Y,=0.004 ¢
logl(@Y)(@Y, )= .

10g (YN 1 Y,/Y) relative LABIND?:
Gy =(aYNY(BYIY,) Stmuls value sensitvity
L Lasanoo= (Ua) In [ 1+ b (¥Y,))
a=03411 1=8823 Ua=2586 b=d,=6.14
relative tistimulus value sensitvi
oGN] g 1o ) 1 (10]

I applicaton
ol o
Y,=18, d¥,=0.08 AY,Y,

appicaton

~log [(LH0) (YL ____

Tog (YAY) LABIND2-
oot S =) wistmulus value contrast
L Lagnoa= (U8) In [ 1+ b (1Y)
403411 (8823 Ua=258.6 b=¥,6.14
istmulus value contast
o0 =log[ (10 143/ (1)

lug OVAY) 1 (Y/BY,)] relative LABIND2-
00(S) §/S=(VIAVY(Y,fav,stimulus value contrast
L= @) In[1+b (YY)
3411 18823 Ua=2566
wisimulus value contast
Togl(YIGYV(Y, 0¥, = 10g [(t-¥)/ (L4~ )]
\oul(l Yy / (1+b) ]
Y718 0Y,0.08 YV, =222
_ loglCYY)(Y,/8v,)
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LABIND lightness

L Liann= (Ag/A) 0 (A + Az Y)

AFLSD  A=00170 A=0,0058
L7508 Y,=18 0Y,=0.08 dY/¥,=0.004
loglL* it

Tog L1 )

e

relative LABIND fighiness
L*Lagonn = (AfAg) In (Ag +Ap-Y)
AL o= In (Ag +Ap'Y) = In (A + Ay Yy)
AFLS0  A=00170 A=00058

L*,=508 ¥,=18 d
ogl(LY)/(L* JI=0,

LABIND-
ristimulus value diference
0= (AN (Ay+ A2

AZ00170 A=0,00
wistimulus value difrence
log(@¥)=log [ (A + A2'Y)/ Ag]

[ - ristimulus value sensitivity
L*Lagno= (AgA2) In (A + Ay Y)
AFLS0  A=0,0170 4=00058
LABIND-tristimulus value sensitivity
log@YM =log [(Ay+ A ) (Ag )]

appication’
range

logAYIAY,) relaive LABIND-
aviay,  msimuius value iference
L Lo (AgfAg) In (Ay+ A3°Y)
AFLS0  AS00170 A-0,0058
Bt e
1og@YidY) =log (A + Az )
~10g (A + AgY,)
Y18, 0Y=008 01,0008
_ ogl@nye,

100 (A1) 1 YY) relaiive LABIND-
G ={BYY(BYiY, fsimuius value sensitvity
L Laao= (AgAD In (A1 + A Y)
Ap150 0170 4=0,0058
relative LABIND:istimulus value sensitty
10gI(@YMI(@Y,Y,)) =log [ (A + Ap™Y) 1Y]
=109 [ (A * A Y) IYy]

TioglEY @Yo, M
V18 0,008 0Y,Y, 0008

| oot
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log (¥iAY)

logtS) S=(viaY) wistmulus value contrast
L*Lasano = iA./Az) In(Ap+AycY)
AFLS0 4=0,0058
R i v oo
log(¥/dY)= log [ (At ¥) /(g™ ]

Y18 4Y,20.08 Y/dY, 222

=2.34 =

UB-test chart BEU2; LABINRand LABJND color- dlﬂerence formulae input: w/rgh
bsolute and relatlve lightness, sensmwty and contrast colour line element and denvatlon

lug (V) 1 (/A relative LABIND-
1008). S/S=(VIAY)(Y, /o, isimuius value contrast
L Lan= (AgAD In (A1 + A Y)
ALS50 A=00170 A=0,0058
relative LABIND-Uistimulus value contrast
Togl(YIEWY,/0Y,]= log [Y (At Az'¥)]
= log [Yy/ (A + Az Yo) ]
V=18 0Y,0.08 Y0,
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